Equation of a line Revision
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A line has equation 4x + 3y – 4 =0. Find the equation of the line perpendicular to this 

      line and which passes through (0,-3).

         2.  The diagram shows triangle RST.

              R is the point (-4,0), S is (2,-6) and

              T is (4,6).

  (a)  Find the equation of the median TU.

(b) Find the equation of the altitude SV.

(c) Find the equation of the perpendicular

        bisector of ST.
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      3. A triangle has vertices L(1,1), M(7,-2) and N(8,10).

(a) Find the equation of the altitude NP.

(b) Find the coordinates of P.
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      4. In triangle ABC, A is (12,3), B is (2,1) and

         C is (4,11).

     (a) Find the equation of the altitude from B.

     (b) Find the equation of the median from C

           to AB.

     (c) Find the coordinates of T, the point of

          intersection of these lines.
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      5. Find the size of angle a0  that the line 

          joining the points A(0,-2) and B(4
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,2) 

          makes with the positive direction of the

          x-axis.     
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      6. A is the point (-2, 
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) and B is (1, 
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).

          Calculate the size of angle a0. 
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